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Name:
Geometry Quarterly 3 - Review

X

X

X

4)

6)

What is the distance between points R(5,7) and $(-2,3)?

A) ¥65 B) J55 C) V25 D) B3

What is the equation of a line that passes through the point (5,-2) and hés a slope of -37?
A) y=3x+13 B) y=3x-13 C) y=-3x-13 D) y=-3x+13

Express in y = mx + b form the equation of the line perpendicular to the line 2y -x =10 and passing
through the point (-3,5). ’

If the length and width of a rectangle are 8 and 5, the length of a diagonal is

A) 89 B) V13 C) \JB% D) 39

What are the coordinates of the midpoint of the line segment whose endpoints are (4,-2) and
(~4,2)?
A) (©.0) B) (-8-4) C) (8.0 D) (0.4)

What is the volume of the cylinder shown below? [Round your answer fo the nearsst cubic inch.]

10in. +

A) 502in.3 B) 126in.3 C) 125in.3 D) 42in3
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7)  As showninthe diagram below, a ladder 5 feet long leans against a wall and makes an angle of
- 85° with the ground. Find, to the nearest tenth of a foot, the distance from the wall to the base of the

ladder. [Showall work.)

8) A communications company is building a 30-foot antenna to carry cell phone transmissions. As
shown in the diagram below, a 50-foot wire from the top of the antenna to the ground is used fo

stabilize the antenna.

Wire
Antenna 50 #
301
u
Ground

Find, to the nearest degree, the measure of the angle that the wire makes with the ground. [Show

all work.]



. Atriangle is formed by the intersection of three lines, y =1/2x -4, y = -3x+3 and the x-axis. On the
accompanying grid, graph the three lines and find the area of the region formed by the three lines.

A J




10. A figure consists of a square and a circle, as shown
in the diagram.

If the length of a side of the square is 12, what is the

area of the shaded region?

12m _

A 24-6m
B. 144-12 7w
C. 48-6m
D. 144-36m

12m]

12 m
11. In right triangle BCD, BD =12, msC = 90, and
msDBC =47. o

Find DC to the nearest tenth.

A. 8.2 |
B. 8.8 1~
C. 129 B c

D. 16.4

12. The length of an altitude of an equilateral triangle
is 4+/3. What is the side of the equilateral triangle.
A. 8
B. 8V3
C. 4
D. 2v3

13. The area of a 240° sector of a circle with diameter
6cm is:
A. 8mem’
B. 67 cm®
C. 36w cm’
D. 127 cm?

14. Tim has a rectangular prism with a length' of 10
centimeters, a width of 2 centimeters, and an
unknown height. He needs to build another
rectangular prism with a length of 5 centimeters
and the same height as the original prism. The
volume of the two prisms will be the same. Find
the width, in centimeters, of the new prism.

A 4cem
B. 10cm
C. 50 cm
D. 2cm

15. A tent for a family of 6 is on sale.

Find the volume of space inside the tent for the family
to sleep.

AL 72
B. 288
C. 576
D. 96

8 12811

16. A backyard is in the shape of a square and a
semicircle. Which expression represents the
perimeter of the yard

40+5w
30+5m
30+10m
30+257

oaowp

17. In a cone, the radius of the circular base is 6¢cm and
the slant height is 10cm. What is the volume of the
cone? ;

A. 60m P
B. 20m
C. %
D. 288x

Beamn

The vertices of quadrilateral ABCD have

coordinales A(.3,2), B(-2,6), C(2,7), and D(1,3)
Prove that ABCD is a rhombus. [The use of the set
of axes below is optional.]




19.  Which equation could be used to find the measure of cne
acute angle in the right triangle shown below?

1) sinA=%
2) tanA=:5l-
3) cosB=%
4) tanB=%

20. The accompanying diagram shows a rar
leaning against a wall at a construction si_.

Wall

If the ramp forms an angle of 32° with the ground, how high
above the ground, to the nearest fenth, is the top of the ramp?

1) 1591t
2) 1871t
3) 2541t
4) 5661t

21. A playground in a local community consists of a rectangle
and two semicircles, as shown in the diagram below.

Which expression represents the amount of fencing, in yards,
- that would be needed to completely enclose the playground?

1) 15x+ 350
2) 137+80

3) 30x+50

4) 30s7+80

22. What is the perimeter of the figure shown below, which
consists of an isosceles trapezoid and a semicircle?

1) 20+3x
2) 20+6x
3) 26+3x
4) 26+86x

23. In the diagram below, circle O is inscribed in square ABCD.
The square has an area of 36.

What is the area of the circf?
1) Sm
2y 6w

3) 3m

4) 36w D

24. In the figure below, ABCD is a square and semicircle O has
a radius of 6.

What is the area of the figure? -

1) 36+6m
A D
2) 36+18x
3) 144+ 18
4) 144 + 367
Bl o__8..Ic




25 . An equilateral triangle has a side of length 6 cm. What is 30. A box in the shape of a cube has a volume of 64 cubic

the height of the equilateral triangle? inches. What is the length of a side of the bax?
1)3 om ) 21.30n
2)4cm 2) 16in
3) 3v/5 em 3) 8in
4) 4in

4) 3'\/5 cm

26. In the diagram below, a right circular cone has a diameter
of 8 inches and a height of 12 inches.

. What is the length of a line segment whose
endpoints have coordinates (5,3) and (1,6)?

What is the volume of the cone to the nearest cubic inch? 1} 5
8 inchies
1) 201 ' i 2) 25
H [

2) 481 3} 17
3) 603 .

12 inches 4) @
4) 804

. In circle O, a diameter has endpoints (—5,4) and

(3,—6). What is the length of the diameter?
27. What is the volume, in cubic centimeters, of a cylinder that

has a height of 15 cm and a diameter of 12 cm? 1) ﬁ
1) 180
2) 2,02
2} 540
3) 675x 3 1o
4) 2,160x 4) 2.4
28. Aright circular cylinder has a volume of 1,000 cubic inches X What is the slope of a line perpendicular to the line

and a height of 8 inches. What is the radius of the cylinder to

the nearest tenth of an inch? whose equation is 2y = —6x + 87

1) 6.3 1) 3
2y 1.2 2) 1
' 6

3) 198
3) 1
4) 398 =
) 3

29. The volume of a rectangular prism is 144 cubic inches,
The height of the prism is 8 inches. Which measurements, in 4} -6
inches, could be the dimensions of the base?

1) 3.3by55
2) 25by7.2
3) 12bys

4) 9by9



. What is an equation of the line that passes through
the point (-2,3) and is parallel to the line whose

equation is y = —g-x -47?

1) y=:32'-x

2) y=:§—x+%
3) y=%x

4) y=%x+6

35. What is the value of x, in inches, in the right triangle
below?

3inches

5 inches

1} J15
2) 8
3) .f34
4) 4

x. Line segment AB has endpoints A(2,-3) and B(-4,6)

What are the coordinates of the midpoint of AB?

1) (_2>3)

2) 1
(23]

3) (_1’3)

4 [3,4%]

37. A storage container in the shape of a right circular
cylinder is shown in the accompanying diagram.

gin

110 1n

What is the volume of this container, to the negrest
hundredth?

1)56.55in” 2)125.66in®> 3)251.33in" 4)502.65in°

38. An 8-foot rope is tied from the top of a pole to a
stake in the ground, as shown in the diagram below.

Rope

8 Pole

/57° n

If the rope forms a 57° angle with the ground, what is
the height of the pole, to the nearest tenth of a foot?

1) 4.4
2) 6.7
3) 95

4) 12.3



39. The center pole of a tent is 8 feet long, and a side of
the tent is 12 feet long as shown in the diagram below.

ft
12 8t

If a right angle is formed where the center pole meets
the ground, what is the measure of angle A to the
nearest degree?

1) 34
2) 42
3) 48

4) 56

"The vertices of quadrilateral JKLM have coordinates
J(-3,1), K(1,-5), L(7,-2), and 14(3,4). Prove that JKLM
is a parallelogram. Prove that JKLM is not a rhombus.
[The use of the set of axes below is optional.]

i

%:ind the area of the figure formed by the intersection of:

y==3, 2y 4+ 3x =12, and y+1=2x

R

42, In [N ABC, the complement of £B is Z4. Which
statemert is always true?

I tansd =lanZB8
2 singA=snLB

3 cosZAd=tansB
4 sinsAd=cosLh

The coordinates of the endpoints of @ are
A{=6,~5) and B{(4.0). Point P is on AB. Deternmine
and staie the coordinates of point 7, such that

AP PBis2:3.

[The use of the set of axes below is optional. ]




44, A jeweler needs to create perfectly circular
bracelets out of wire. The bracelets each need to
have a radius of 5 cm. What is the largest number
of bracelets that can be made from 200 cm of wire?

45, Which object is formed when right triangle RST
shown below is rotated around leg RS g
(1) a pyramid with a square base

(2) aright triangle

(3) an isosceles triangle

(4) a cone 8
46. Which figure can have the same cross section as a
sphere?
1) |
/l—- — M
7/
s
2)
I
|
- — =~
A
3)

47. A student has a rectangular postcard that he folds in
half lengthwise. Next, he rotates it continuously
about the folded edge. Which three-dimensianal
object below is generated by this rotation?

2)

3)

4)

48. In ARST shown below, altitude SU is drawn to
RT at U.IfSU=k, UT= 12, and RT = 42, which
value of & will make ARST aright triangle with
ZRST as aright angle?

D 63
2) 6af10
3) 614
4 605 R u T




49. A hemispherical water tank has an inside

50.

51.

52.

diameter of 10 feet. If water has a density of
62.4 pounds per cubic foot, what is the
weight of the water in a full tank, to the
nearest pound?

1) 16,336
2) 32,673
3) 130,690

4) 261,381

Given: Parallelogram ABCD, EF, and diagonai
LDFE

D C

Prove:

a)ADEF = ABGF

»DE _BG ‘
EF GF

¢)DE o GF = EF « BG e

A 8
The cross section of a reguiar pyramid contains

the altitude of the pyramid.
The shape of this cross section is a

1) circle

2) square

3) triangle
4) Rectangle

Find the missing values. {If not a whole
number, then round to two decimal places.)

15 z

53. In right triangle ABC shown in the diagram

below, altitude BL2 is drawn to hypotenuse E’,
CD =12, and AD = 3. What is the length of 487

1) 5.3

2) 6

3) 3.5

4 9



